i o EXP Clawbot Build Instructions

280-7735-752



Parts List

All EXP Control System, gears, wheels,
wires, and structure are not to scale
All other parts listed are 1:1 scale.

@ E] 46X #8-32 Low Profile Nut

@I] 4X #80.032" Thick Washer

8X Star Drive Screw
8-32 x0.250" Locking

[:ﬂ 42X Star Drive Screw
8-32x0.375"

—

19X Star Drive Screw 8-32 x 1.000"

8x High Strength Shaft Adapter
(1/8" Square Bore, 1/2" Long)

/=10

4X High Strength Shaft Adapter
(#8 Round Bore, 1/2" Long)

@ 4X Standoff 0.50"

©

1X Standoff 1.00"

©

2X Standoff 2.00"

o 15X Rubber Shaft Collar

1X 12T High Strength Gear

Ul

10X #8 Click-On Spacer 0.125"

1

10X #8 Click-On Spacer 0.250"

10X 1 Post Standoff Retainer
with Bearing Flat

8

8X 1 Post Standoff Retainer

5X Low Profile Bearing Flat

(o o o

9X Shaft Collar Retainer
with Bearing Flat

2X 1x4 Plastic Linkage Beam

2X 1x5 Crank Arm with 23T Gear

3X 200mm Smart Cable

1 X 600mm Smart Cable

[1 2X 5 Shaft

2X 25" Capped Shaft
TT 1 2X 2.5" Shaft

4X 2" Shaft

1x 60T High Strength Gear

2X 3.25" (260 mm Travel)
Anti-Static Omni-Directional Wheel

2X 3.25" (260mm Travel)
Anti-Static Wheel



00000000
0000000
00000000

]

4X 1x2x1x8 C-Channel

00000000000 Q0
00000000000
00 0O0.0000,000C

4X 1x2x1x12 C-Channel

0O 000 000000000000
0000000000000 OQ0
0 000,000 00000,000C

6X 1x2x1x16 C-Channel

086686

0 06 @ W

1X EXP Robot Brain

1X EXP Robot Battery Li-lon 2500 mAh

O O 0 0O
> O O 0O <
O 0 4d 0O
> O 0O O <
O 0 4d 0o
2 I N B R B

0O 0 4d 0d

1X 4x4 Flat Plate

7\

4X V5 Smart Motor (5.5W)

OO | OO
o0 | OO
0o | OO

2X 30 Degree Bent Gusset

,HaHaP0EaEt.

0O 00000
O 0 0O

> <
i N g R

N

1X EXP Robot Brain Mounting Bracket




O — & StarDrlveScrew8 32x0.375"
@x@a%%k\ \

Q \M ‘
=B 05 O o D ¢
s ¥
@ N kﬂ\f
N S
‘ @ @ﬂ;\ 28

Rubber Shaft Collar ————

Shaft Collar Retainer —————
with Bearing Flat

#8-32 Low Profile Nut ————

4x #8-32 Low Profile Nut

()

4x Star Drive Screw 8-32 x 0.375"

2x Rubber Shaft Collar

©)eze,

2x Shaft Collar Retainer with Bearing Flat

000000000000 o00a0ga0o
00000000000 oooao
oo 0o0oco0oco0o0o0o0o00aaoa

2X 1x2x1x16 C-Channel

¥k 2X

1) ~ Star Drive Screw 8-32 x 0.375"

( Shaft Collar Retainer with Bearlng Flat
\—— #8-32 Low Profile Nut

{

4x Star Drive Screw 8-32 x 0.375"

©H

4x #8-32 Low Profile Nut

2x Rubber Shaft Collar

2x Shaft Collar Retainer with Bearing Flat



o #8-32 Low Profile Nut

Q)

~\—— Star Drive Screw 8-32 x 0.375" B

{

2x Star Drive Screw 8-32 x 0.375"

Ol=

2x #8-32 Low Profile Nut

2x 1 Post Standoff Retainer with Bearing Flat

(

4x Star Drive Screw
8-32 x 1.000"

2x Low Profile Bearing Flat

2x V5 Smart Motor (5.5W)

/5 Smart Motor (5.5W)




———#8 Click-On Spacer 0.250"

High Strength Shaft Adapter

(1/8" Square Bore, 1/2" Long) S N 3.25" (260mm Travel) Anti-Static Wheel

N 25" Capped Shaft

VB

4x #8 Click-On Spacer 0.250"

2x High Strength Shaft Adapter
(1/8" Square Bore, 1/2" Long)

I )
2x 2.5" Capped Shaft

¥ 2X

——— #8 Click-On Spacer 0.250"

High Strength Shaft Adapter
(1/8" Square Bore, 1/2" Long)

\ 3.25" (260 mm Travel) Anti-Static
Omni-Directional Wheel

“————— Rubber Shaft Collar

2Xx Rubber Shaft Collar

UB

2x #8 Click-On Spacer 0.250"

2x High Strength Shaft Adapter
(1/8" Square Bore, 1/2" Long)

| )
2x 2" Shaft




B

#8-32 Low Profile Nut —,
\5
1 Post Standoff Retainer —,

= [Z; < @\;\@ —
Star Drive Screw 8-32 x 0.375" ————. . PRSI A2 A
< S OVS 25 %
LN \@/A

1 Post Standoff Retainer ——— 4 =~ Star Drive Screw 8-32 x 0.375"

Ol=

1x #8-32 Low Profile Nut

()

1x Star Drive Screw 8-32 x 0.375"

©H

1x #8-32 Low Profile Nut

()

1x Star Drive Screw 8-32 x 0.375"

1x 1 Post Standoff Retainer

000000000000 o00a0ga0o
00000000000 oooao
oo 0o0oco0oco0o0o0o0o00aaoa

1X 1x2x1x16 C-Channel 1Xx 1 Post Standoff Retainer




0

#8-32 Low Profile Nut % =
————— 1 Post Standoff Retainer =
,——— Standoff 2.00"

1x2x1x16 C-Channel

&

\————Star Drive Screw 8-32 x 0.375"

Star Drive Screw ———
(&) 8-32 x0.250" Locking

Ol=

2x #8-32 Low Profile Nut

()

2x Star Drive Screw 8-32 x 0.375"

]

2x 1 Post Standoff Retainer
2x Star Drive Screw

00 000000000000 00 8-32x0.250" Locking
00000000000 0O0OO0OOd
000000000000 0O0O0O0 @

1x 1x2x1x16 C-Channel 2x Standoff 2.00"



#

os—Star Drive Screw
8-32x0.250" Locking

EXP Robot Brain Mounting Bracket

2x Star Drive Screw
8-32 x0.250" Locking

D00 00

LD 0-0_0.0 DJ

f@gggggaggggi

1x EXP Robot Brain Mounting Bracket

©H

4x #8-32 Low Profile Nut

(®

4x Star Drive Screw
8-32 x0.250" Locking

—#8-32 Low Profile Nut

EXP Robot Brain

"

o~ Star Drive Screw 8-32 x 0.250" Locking




——— EXP Robot Battery Li-lon 2500 mAh

1x EXP Robot Battery Li-lon, 2500 mAh




2x 200mm Smart Cable




————— Rubber Shaft Collar J
‘ —————— Shaft Collar Retainer 0
Star Drive Screw —————, with Bearing Flat JN
8-32x0.375° & o _Star Drive Screw g J) V5 Smart Motor (5.5W)
Cz - #5-32 LowPrfl Nut (B0l
k (@ dl Rﬁ b ‘
‘ S E
1x2x1x12 C-Channel oIy g
Low Profile Bearing Flat—— U4
g|ufe
gliN) e
a2 &

()

2x Star Drive Screw 8-32 x 0.375"

Ol=

2x #8-32 Low Profile Nut

—Do

2x Star Drive Screw 8-32 x 1.000"

° ‘ 0 1x Low Profile Bearing Flat
ol NG (!

1x Rubber Shaft Collar 7 wilinkle)
Yo
—‘ ii;,‘l EJ’
. . ) NN ! J
1x Shaft Collar Retainer with Bearing Flat '
— d
000000000000
0000 o0oooooaoao
g g ad DAD g a DAD g g d3d

1x 1x2x1x12 C-Channel 1x V5 Smart Motor (5.5W)




L

Star Drive Screw
8-32x0.375"

()

2x Star Drive Screw 8-32 x 0.375"

©H

2x #8-32 Low Profile Nut

2x 1 Post Standoff Retainer with Bearing Flat

1 Post Standoff Retainer
with Bearing Flat

—#8-32
5y Low Profile Nut

—— #8-32 Low Profile Nut

&

g F;£2—1 Post Standoff Retainer
0

Star Drive Screw \
8-32x0.375"

©H

1x #8-32 Low Profile Nut

()

1x Star Drive Screw 8-32 x 0.375"

=0

1x 1 Post Standoff Retainer




L3 203

Rubber Shaft Collar ————, AN
Shaft Collar Retainer — 2 ™ s
with Bearing Flat N \ __»—— Star Drive Screw
[/U\ ™3 N 8-32x0375"
AR \ ,,
/ oy %9
= ] Rubber Shaft Collar —————
O
Q INR goIN Shaft Collar Retainer —,
< NI with Bearing Flat : ~/Star Drive Screw
N NN g@lIN \ N 8-32x0.375"
#8-32 Low Profile Nut N ;"ﬂ 1| |y 1x2x1x12 C-Channel o\
Ray #8-32 Low Profile Nut—, .
3@ /;;U U\J
INR g IN
NPl ﬁ
e Qrd|g
QIrd g

()

2x Star Drive Screw 8-32 x 0.375"

©H

2x #8-32 Low Profile Nut

1X Rubber Shaft Collar

()

2x Star Drive Screw 8-32 x 0.375"

Ol=

2x #8-32 Low Profile Nut

1Xx Rubber Shaft Collar

1x Shaft Collar Retainer with Bearing Flat

000000000000
00000000000
000O0,00000000

1Xx 1x2x1x12 C-Channel 1x Shaft Collar Retainer with Bearing Flat




% #

L
J
~ : N - i
1 Post Standoff Retainer with (€ }} QL [ — po#;?ssénbgggé?affriy "
Bearing Flat L~ oY g \, ~— Star Drive Screw
% NS (¢ 832x0375"

#8_32—ZJ [;;U,\E\\,A @
Low Profile Nut | T
iy i)
gl g
o ﬁ\} g Star Drive Screw —,
8-32x0.375" ®
gLy 2

©H

1x #8-32 Low Profile Nut

()

2x Star Drive Screw 8-32 x 0.375" 4
o= s |
2x #8-32 Low Profile Nut [ 1x Star Drive Screw 8-32 x 0.375"

2x 1 Post Standoff Retainer with Bearing Flat 1x 1 Post Standoff Retainer




N #8-32 Low Profile Nut

\————— Low Profile Bearing Flat

__,—Star Drive Screw R ‘~ N
) 8-32x0.375" 3

AN IQ|f
1 Post Standoff Retainer with R g
R Bearing Flat AN N
#8-32 Low Profile Nut— y ﬂr,a /]
;@ LQ‘@ |
N JQ N ‘
B [’U;ﬂ, L
‘@ U[JT“::

—

()

1x Star Drive Screw 8-32 x 0.375"

Ol=

1x #8-32 Low Profile Nut

1x 1 Post Standoff Retainer with Bearing Flat @ E

2x #8-32 Low Profile Nut

()

2x Star Drive Screw 8-32 x 0.375"

000000000000 o00a0ga0o

00000000000 oooao
oo 0o0oco0oco0o0o0o0o00aaoa n

1x 1x2x1x16 C-Channel 1x Low Profile Bearing Flat




% * 26 af
//@?;,\ \ s N
/é%bjil ‘j kj >
%?;?49/ ‘g @ g\
s e

(42% 0 gl !

/%%%/%d{/g/ N

AT ﬂ/'/
#8 Click-On Spacer 0.250" ———, /%%;%f/ High Strength Shaft Adapter QTQ J)
/”/ /~ (1/8" Square Bore, 1/2" Long) | Qﬁ
: _——— 12T High Strength Gear ‘ ‘
#JIN Q‘
2 Q% 1x2x1x16 C-Channel
5" Shaft — ‘ g Q g
| #2IN QT
lolie
[olufo
0|9 %
21N @‘
#8-32

Low Profile Nut JIN) )

loks

@ 7 Z\,—StarDriveScrew
~ ) (é 8-32x0.375"

_——1 Post Standoff Retainer
with Bearing Flat

(mm)

1x Star Drive Screw 8-32 x 0.375"

©H

1x #8-32 Low Profile Nut

1X 1 Post Standoff Retainer with Bearing Flat

1x 12T High Strength Gear

VB

2x #8 Click-On Spacer 0.250"

1x High Strength Shaft Adapter
(1/8" Square Bore, 1/2" Long)

00000000000 D0DD0DODDOD
OO0 0000000000000
0000 0000,000000O00

|
1x 5" Shaft

1X 1x2x1x16 C-Channel




% 7

GINRS
J

/

5
v
S\

,——— 60T High Strength Gear

AR MR N

LY e e o\

Low Profile Bearing Flat\

i~ s s,
=

1 B
N

#8-32—
2|

L Low Profile Nut

\‘ géﬁ QJ} /X/— Star Drive Screw 8-32 x 1.000"
N el
2

AN
Au¥

_——Star Drive Screw 8-32 x 1.000"

NG
G

ﬁﬁﬁﬁﬁﬁ‘ﬁ@iﬁﬁ'

Standoff 1.00" —

Ol=

2x #8-32 Low Profile Nut

(—Do

—Do

2x Star Drive Screw 8-32 x 1.000"
1x Star Drive Screw 8-32 x 1.000"

1x Low Profile Bearing Flat

1x Standoff 1.00"



"

#8 Click-On Spacer 0.250

.

_————— High Strength Shaft Adapter

1/2"Long)

1/8" Square Bore,

(

5" Shaft —r "

VB

2x #8 Click-On Spacer 0.250"

1x High Strength Shaft Adapter

(1/8" Square Bore, 1/2" Long)

1x 5" Shaft




#8-32 Low Profile Nut
EQQ

1x4 Plastic Linkage Beam

2

SN #8 0.032" Thick Washer

© .

2x #80032" Thick Washer

V]

-\ Star Drive Screw 8-32x 1.000"
4x #8 Click-On Spacer 0.125"

Ol=

2x #8-32 Low Profile Nut

—Do

2Xx Star Drive Screw 8-32 x 1.000"

1X 4x4 Flat Plate

1X 1x4 Plastic Linkage Beam

#8 Click-On Spacer 0.125"
1x4 Plastic Linkage Beam

©

2x #80.032" Thick Washer

Ui

4x #8 Click-On Spacer 0.125"

Ol=

2x #8-32 Low Profile Nut

—Do

2x Star Drive Screw 8-32 x 1.000"

1X 4x4 Flat Plate

1X 1x4 Plastic Linkage Beam

#8-32 Low Profile Nut
AN N\
A -
(N

#80.032" Thick Washer

Star Drive Screw 8-32 x 1.000"




o), ———#8-32 Low Profile Nut

T8

—— Shaft Collar Retainer
with Bearing Flat

Rubber Shaft Collar ——

/%)/—#8—32 Low Profile Nut

————— 1 Post Standoff Retainer

~\————Star Drive Screw 8-32 x 0.375"

Star Drive Screw 8-32 x 0.375" ———— =

O

Ol=

1x #8-32 Low Profile Nut

()

()

2x Star Drive Screw 8-32 x 0.375"

Ol=

1x Star Drive Screw 8-32 x 0.375" 2x #8-32 Low Profile Nut

=0 &

1x 1 Post Standoff Retainer 1x Rubber Shaft Collar

00000000
0000000
00 00,0000

1x 1x2x1x8 C-Channel 1x Shaft Collar Retainer with Bearing Flat




% @ @< Star Drive Screw 8-32 x 1.000"

———Shaft Collar Retainer
with Bearing Flat

‘/— Rubber Shaft Collar

( ————\/5 Smart Motor (5.5W)

2x Star Drive Screw
8-32x 1.000"

1X Rubber Shaft Collar

1x Shaft Collar Retainer with Bearing Flat

1x V5 Smart Motor (5.5W)

High Strength Shaft Adapter ——_
(1/8" Square Bore, 1/2" Long)

2" Shaft——

2X  standoff0s0'—

o &

v

1x5 Crank Arm——_

-
- 30 Degree Bent Gusset
)

"\ Star Drive Screw 8-32x 1.000"

2x High Strength Shaft Adapter
(1/8" Square Bore, 1/2" Long)

—Do

4x Star Drive Screw 8-32 x 1.000"

4x Standoff 0.50"

|
2x 2" Shaft

2x 1x5 Crank Arm with 23T Gear



2x #8 Click-On Spacer 0.125"

()

2x Star Drive Screw 8-32 x 0.375"

Ol=

2x #8-32 Low Profile Nut

1x2x1x8 C-Channel ———— \Nut
— ‘ |

2x 1 Post Standoff Retainer with Bearing Flat

000000
00000
000 0,00

g g
g 0O
g g

1X 1x2x1x8 C-Channel

=

1 Post Standoff Retainer
with Bearing Flat
o—#8-32
Low Profile

Star Drive Screw
8-32x0.375"

——#8-32 Low Profile Nut

5%

“— 1 Post Standoff Retainer

Star Drive Screw 8-32 x 0.375"

Ol=

1x #8-32 Low Profile Nut

()

1x Star Drive Screw 8-32 x 0.375"

=0

1Xx 1 Post Standoff Retainer




High Strength Shaft Adapter
(#8 Round Bore, 1/2" Long)

=0

4x High Strength Shaft Adapter
(#8 Round Bore, 1/2" Long)






——— Rubber Shaft Collar

4x Rubber Shaft Collar

| )
2x 2.5" Shaft




1x 200mm Smart Cable

1x 600mm Smart Cable -




EXP Clawbot Build Instructions
280-7735-752 Rev4

IFI A SUBSIDIARY OF

INNOVATION FIRST*
INTERNATIONAL

Custom manufactured in China for Innovation First Trading SARL. Distributed in the U.S.A. by VEX Ro-
botics, Inc., 6725 W. FM- 1570, Greenville, TX 75402, U.S.A. Distributed in Europe by Innovation First
Trading SARL, 21b rue Gabriel Lippmann, L-5365 Munsbach, Luxembourg +352 27 86 04 87. Distribut-
edin Canada by / Distribue au Canada par / Innovation First Trading, Inc., 6725 W. FM 1570, Greenville,
TX 75402, U.S.A. ©2018 VEX Robotics, Inc. All rights reserved. Tous droits réservés.




